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1. Place your counters on
a start and write your
Q =
@ 8 names on the score card.
(]
2. On your turn, roll the dice
< X and move your counter
S & > (= .
ATPE = around the board clockwise.
o - 1 = o
g'_. 3 5 g— P~
-8 o 3. If you land on a coloured
. - + square, solve the problem
= 8% 3 ® . . _f
S e - using a piece of paper
S2RE5F s to score the points.
"5

Use the verb
‘stop’ to
complete this
sentence in the
present tense:
The car is

Make the noun
‘boat’ plural.

Make the noun Add the suffix
‘peach’ plural. -er to the root
word ‘sunny’.




fiaqo . % Q @

ipldom - 5"\?,
‘asuay 3snd " oy, paom 1004 S1Yy3 03 ' 210], pJom 2, O:'o
- ay3 oju1 ,23nq, 1004 3y} 03 Ua- PappDp aq Ssau- 1004 2y3 01 - /.Q ‘9&) o
5 g42A Y3 Ind xiffns ay3 ppy 1o bui- pinoys xiffns ay3 ppy 0%'%99 > "-“’,z, o
o %e/ %S, i
o,
//o % o
syuod G + syuiod QT + & 7
4 N\ B =
: Q QL) o
cwd < vV Y o=
(= S x5 38
| ISEe3E
1) RN
- % *
R m
Q
= o < = 58235,
Q 7)) © - 9T 27 g
Q - Q. = .E w09
S = o 2837
— S - wo°r
(a8 o +
- =]
28 95
SxE3%
\, S 3 “? £ 3 o

4, If you land on a challenge
space, pick up a challenge
card and answer the
problem correctly to

score the points.

Challenge

(7]
1 9o B
5. If you land on a chance 8 Sx28%
. o« 8
space, pick up a chance P 235 8”
) +
card for a trick or a treat!
: i 5
6. The first player to reach £ S228. .,
” - . . o BgEEES
visit twinkl.com 100 pOln.tS wins! ;— § é%é gq:ﬁ
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! Add the suffix Use the word Make the noun 9 <°Q
-est to the root ‘hike’ to ‘fly’ plural. &
‘ ) : N7 XY
word ‘happy’. complete this > O
sentence in the ) Aé 0,%&"
present tense: 5
RN
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